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(DA PEE I 0 0 0
L FEBEUA 363,079,000 332,018,000 | 31,061,000
D B EHEEE A 333,194,000 320,585,000 | 12,609,000
@F FBHE I 1,556,000 1,860,000 |  /A304,000
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O FIEIPN 20,000 65,000 45,000
BHEESIA
DA A 8,637,000 8,269,000 368, 000
B A
OHEMLA, 1,074,000 1,239,000 165, 000
LN SE A) 363, 079, 000 332,018,000 | 31,061,000
EIIEGE S e N =t 0 0 0
1N = (B) 363, 079, 000

31,061,000
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O FAEEERE T 288,716,000 282,240,000 6,476,000
OeRBIREYI 7 X H 14,450,000 0 14,450,000
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OFin& 0 0 0
WHEHAS (C) 363,079,000 332,018,000 31,061,000
LI A FH (A)-(C) 0 0 0
SR s (B)-(C) 0 0 0




